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public class DebugVariable {
public static void main(String[] args){
int length = 150, angle = 30, factor = 2/3;

TurtleFrame f = new TurtleFrame();
Turtle m = new Turtle(100,350,0);
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f.add(m);
m.fd(length) ; //length 0O OO
10 m.rt(angle); //angle 0000
11 length = length*factor; //length O factor 00 [
12
13 m.fd(length); //length 00O 00O
14 m.rt(angle); //angle 00O 00O
15 length = length*factor; //length O factor OO0
16
17 (DD 400000000)
18 }
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1 |public class DebugVariable {

2 public static void main(String[] args){

3 int length = 150, angle = 30, factor = 2/3;

4

5 TurtleFrame f = new TurtleFrame();

6 Turtle m = new Turtle(100,350,0);

7 f.add(m);

8

9 System.out.println("value of length = " + length); //length OO 0O
10 m.fd(length); //length 00O 00O
11 m.rt(angle); //angle 00 00O
12 length = length*factor; //length O factor 0 OO
13

14 System.out.println("value of length = " + length); //length 00O
15 m.fd(length); //length 00O 00O
16 m.rt(angle); //angle 0000
17 length = length*factor; //length O factor 00O
18

19 (DD 400000000)

20 }

21 }

Uo090ui 400000000000000000value of length =000000000O0ODO length
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cal23453% javac DebugVariable. java
cal2345$ java DebugVariable

value of length = 150

value of length
value of length
value of length
value of length
value of length
value of length
value of length
value of length
value of length
cal2345$
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U00000090000 1lengthO0ODO 15000000014 000000 1lengthOOO 000OO00ODOO
goooog
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value of length
value of factor
value of length
value of factor
value of length
value of factor
value of length
value of factor
value of length
value of factor
value of length
value of factor
value of length
value of factor
value of length
value of factor
value of length
value of factor
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public class DebugVariable {
public static void main(String[] args){
int length = 150, angle = 30, factor = 2/3;

TurtleFrame f = new TurtleFrame();
Turtle m = new Turtle(100,350,0);
f.add(m);
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]
+

System.out.println("value of length length); //length OO0

10 System.out.println("value of factor = " + factor); //factor 000

11 m.fd(length); //length 00O 00O

12 m.rt(angle); //angle 00 00O

13 length = length*factor; //length O factor 00O
14

15 System.out.println("value of length = " + length); //length 00O

16 System.out.println("value of factor = " + factor); //factor 000

17 m.fd(length); //length 00O 00O

18 m.rt(angle); //angle 00 00O

19 length = length*factor; //length O factor 00O
20

21 (00 400000000)

22 }

23 }

O 1: lengthO factor OO0 O OO0OO0O0DOOOO

OO0 lengthOOO factor 0000000000000 OOOOOOOO2/300000000000000O
O factor 00000 O000O0OO0DOOO0OOOOO0O0O0O0130000000000000 1ength 0OO0O
ooooooooo
00 factor0 000000000000 00D0O0DODDOODOO'0DDOO000000O0O0OOOOOOO
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int length = TurtleFrame.askInt("length of edges");

OO00O0000000000D0 TurtleFrame.askInt("length of edges"); U int 000000 O0O0OO
O000D000DO0O0D0OC0DO0O0ODODO0O0ODbO0OD0OO0000D0 TurtleFrame.askDouble("message") [
TurtleFrame.askString("message") 0O OO0O0OODOOO0OOODOOOOODOOOOODOOOOODOOO
ooooooooooDooo

00 2-1: (0000000000 1) 00000000000 000000 x0000001000000
ooo 10,10x,20x0 3000000000000 O00O00OOODOO

lint 00000000000000000000000000000000000 2/300000000000 200000 300
oooooooood



/¥ 0000000000000 0000o00 =/
public class AskExample {
public static void main(String[] args){
TurtleFrame f = new TurtleFrame();
Turtle m = new Turtle();
f.add(m);

int length = TurtleFrame.askInt("length of edges"); //0000000COOO0DOOOOOOODOO
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10 m.fd(length) ; (/00000000
11 m.rt(120); //120000

12

13 m.fd(length) ; (/00000000
14 m.rt(120); //120000

15

16 m.fd(length) ; (/00000000
17 m.rt(120); //120000

18 }

1 |}

02000000000000000000O

00 2-2: (000D00D0O0O0O0O02) OD0O0O0O0OO0O0O0DO0O0O0O0OO0D0O0O0OO0x0O0000000x000O
0000000000o00ooooooooOo? (oo:300000)

00 2-3: (0000000000 3) OD00OD0O0DOOO0OODOODOOOUOOO xy,zO0OOOOO10000O0O
0000000000000 0O0000O000OO00O00C000DOO0bD x/y000DDOOOO zO0000O00O
gbooaboogn

00 2-4: (00D00O0O0OO0O0OO04) 0000000 OUOO0OO0OO0OO0O0DO0OR000000 100000 100
On000000000C0O0(DO0O0DO0O0C00O0COOO0)00O0OO0? 100000 1000000000000
gooooooooOoOoOOOOOO?OOOOOO



